ASSIGNMENT

THE GIVEN GRAMMAR IS:
1. R => R | R
2. R => R R
3. R => R *
4. R => ( R )
5. R => a  
6. R => b

a). COMPUTING THE FIRST AND FOLLOW:

FIRST(R)({a, b, (}
FOLLOW(R)({$, a, b, (, ), *, | }

b). CONSTRUCTING THE PARSING TABLE FOR THE GIVEN GRAMMAR:

	NON-TERMINAL
	a
	b
	(
	)
	*
	|
	$

	R
	1,2,3,5
	1,2,3,6
	1,2,3,4
	
	
	
	


As there are multiple enteries in the parsing table so the Grammar is ambigous.

c). CONSTRUCTING AN EQUIVALENT UNAMBIGUOUS GRAMMAR GIVING THE OPERATORS star(repitition), concatenation and aternation THE USUAL PRECEDENCES:

i.e. repetition > concatenation > alternation.
1. R => R | T 
2. R => T
3. T => T F 
4. T => F
5. F => G * 
6. F => G
7. G => ( R )
8. G => a  

9. G => b

d). COMPUTING THE FIRST AND FOLLOW FOR THIS GRAMMAR AND BUILDING THE PARSING TABLE:
FIRST(G)({a, b, (}

FIRST(F)({a, b, (}

FIRST(T)({a, b, (}
FIRST(R)({a, b, (}

FOLLOW(R)({$, |, )}
FOLLOW(T)({ $, |, )}
FOLLOW(F)({ $, |, )}

FOLLOW(G)({ $, |, ), *}
PARSING TABLE:

	NON-TERMINAL
	A
	B
	(
	)
	*
	|
	$

	R
	1,2
	1,2
	1,2
	
	
	
	

	T
	3,4
	3,4
	3,4
	
	
	
	

	F
	5,6
	5,6
	5,6
	
	
	
	

	G
	8
	9
	7
	
	
	
	


As there are multiple enteries in the parsing table, so the Grammar is not LL(1).
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